®
TWC)NG EXTENSION and ADAPTER MOUNTING

IGGY, LINUS or STAN
\ pin with safety clip LEIA
or optional

M10x70 screw with M10 self locking nut

2x M10x80 screw
4x M10 washer

thighten the M12x12
never thighten the M12x120 screw 2x M10 flat self locking nut

at the center pivot point!

plastic roller
@=50mm, L=64mm
spacer sleeve
66mm RR-18x2

plastic roller
@=50mm, L=48mm
spacer sleeve
50mm RR 18x2

HELLA part 2

HELLA part 1

1x M12x85 screw
2x M12 washer

1x M12x100 screw 1x M12 self locking nut
2x M12 washer

1x M12 self locking nut

TWONG Engineering GmbH, Feldkellergasse 42, A-1130 Wien, tel: +43 (0) 1 997 29 41, fax: +43 (0) 1 997 29 417, mail: info@twong.eu, web: www.twong.eu 07/2014



